ATOMIC ENERGY CENTRAL SCHOOL NO. 2, MUMBAI
MULTIPLE CHOICE QUESTIONS EXAMINATION - 2(MCQ-2)
DATE : 05.08.2025 CLASS:VIII MAX. MARKS: 100

SECTION — A (ENGLISH)
1. You ___ obey the traffic rules.

a) can b) may C) must d) would
2. | borrow your notebook for a day?
a) Should b) Might c) Must d) Could
3. He ___ bein his office. The lights are off.
a) can’t b) must c) might d) should
4. You __finish this assignment by tomorrow. It’s urgent.
a) might b) must c) could d) would
5. I __ speak French when | was younger.
a) might b) should c) could d) can
6. You  eat too much sugar. It’s bad for your health.
a) must b) may ¢) shouldn’t d) can
7. We ___ go to the zoo tomorrow if the weather is nice.
a) must b) can c) would d) shall
8. She __ have left already. I don’t see her bag here.
a) must b) might c) could d) should
9. You  park your car here. It’s not allowed.
a) can’t b) wouldn’t c) may not d) must
10.We  complete the work now or we’ll miss the deadline.
a) shall b) might c) could d) must
11.She __ to school every day.
a) go b) goes C) gone d) going
12.They __ their homework before dinner last night.
a) had done b) has done c) do d) were doing
13.1 __ to Mumbai next week.
a) go b) went c) will go d) going
14.He __ for his lost wallet since morning.
a) searches  b) searched c) has searched d) has been searching
15.By 2026, | ___in this company for ten years.
a) will work b) will have worked c) worked d) have worked
16.When | called her, she __ dinner.
a) cooks b) was cooking c) cooked d) has cooked
17.They __ already left when we arrived.
a) have b) had c) will d) are
18.The train ___ before we reached the station.
a) left b) leaves c) had left d) has left
19.1 usually __ coffee in the morning.
a) drink b) drank c) drunk d) drinks

20. Right now, she ___a book in her room.
a) read b) is reading c) was reading d) reads
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SECTION - B (MATHEMATICS)
In the month of 28 days how many days are prime?

(@11 (b) 10 (©9 (d) 8
Find the value of ‘x’ for the equation 3 x x+ 5 =26
(a) 14 (b) 8 (7 (d) 6
A square is a ------------------- with equal sides
(a) Rectangle (b) kite  (c) Hexagon (d) Trapezium
Find the Area of the square whose perimeter is 20m.
(@) 5m (b) 2m (c) 25 square m (d) 30 square m

A cuboid has length 7 cm, breadth 6 cm and height 5 cm. Find the volume of
cuboid?

(@)210cm® (b) 200cm®*  (c) 18 cm® (d) 18 cmd
A water tank is filled up to % of its capacity. If the tank’s full capacity is 240 liters,
how much water is in it now?

a) 60 L b) 120L c) 180L d) 240 L
What is the formula to find the sum of n consecutive odd numbers?

(a) n? (b) n(n-1) (c) n(n+1) (d) 2n
What shape is formed when stacking blocks for 23

(a) Cuboid (b) Cube (c) Cylinder  (d) Sphere
Which of the following is a perfect square?

(a) 1057 (b) 625 (c) 7928 (d) 112
What is the power of 44

(@) 64 (b) 256 (c) 260 (d) 1024
What is the sum of the first four odd natural numbers?

a)16 b)17 )18 d)20
Which of the following is a triangular number?

a)5 b)10 )12 d)16

Which of the following will have 6 at unit place?

a)192 b)112 c)24%2 d)132
How many natural numbers lie between 92 and 102

a)l7 b)18 )19 d)20
IS both a triangular number and a square number.
a)25 b)36 C)8 d)5
The value of 92-1 is equal to

a)81 b)80 )79 d)78

Which of the following numbers is a palindrome?

a)12345 b)9985899 c)221 d)326653
The number whose sum of the digits is 18 is

a)195 b)168 c)150 d)189
Assertion (A): The number 12 is a composite number.

Reason (R): Composite numbers have more than two factors.




a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) A is true but R is false. d) A is false but R is true.
40 Assertion(A): 92=40+41

Reason (R): The sum of any two consecutive numbers is always odd.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) A is true but R is false. d) Ais false but R is true.
SECTION — C (SCIENCE)
41.Cell wall is absent in:
A) Plant cells B) Fungal cells C) Animal cells D) Bacterial cells
42.The control centre of the cell is:
A) Cell wall B) Nucleus C) Vacuole D) Cytoplasm
43.Bread mould is an example of:
A) Bacteria B) Algae C) Fungi D) Virus
44.Which of these microorganisms is unicellular?
A) Mushroom B) Amoeba C) Mould D) Algae
45.Spirulina is a type of:
A) Virus B) Algae C) Fungi D) Protozoa
46.Yeast is used in:
A) Cheese making B) Bread and cake making C) Pickle preservation D) Curd
preparation
47.Microbes that help in nitrogen fixation:
A) Lactobacillus B) Rhizobium C) Algae D) Fungi
48.What is a patent?
A) A reward for discovery B) A type of research lab
C) A copyright for inventions D) A research license
49.The gas responsible for dough rising is:
A) Oxygen B) Carbon dioxide C) Hydrogen D) Nitrogen
50.Pickles don’t spoil quickly because they contain:
A) Water B) Yeast C) Preservatives D) Microbes
51.The term "cell" was coined by

A) Antonie van Leeuwenhoek B) Robert Hooke
C) Louis Pasteur D) Rudolf Virchow
52 is called the "Father of Microbiology".

A) Aristotle B) Robert Hooke C) Antonie van Leeuwenhoek D) Pasteur
53.The stain used to view cheek cells is:

A) Safranin B) lodine C) Methylene blue D) Bromothymol blue
54.Photosynthesis occurs in:

A) Mitochondria B) Nucleus C) Chloroplast D) Cytoplasm
55.Which food uses bacterial fermentation?

A) Curd B) Cake C) Fried rice D) Roti
56.Why is Spirulina called a “superfood”?

A) It’s tasty B) It’s easy to grow C) Rich in proteins and nutrients D) Found in soil
57.Curd tastes sour due to:

A) Salt B) Sugar C) Lactic acid D) Carbonic acid



58.Bacteria have:

A) True nucleus B) Nucleoid C) Nuclear membrane D) Vacuole
59.Which one is visible to the naked eye?

A) Cell B) Microbe C) Ostrich egg cell D) Mitochondria
60.Foldscope is a type of:

A) Phone B) Microscope C) Periscope D) Telescope
SECTION - D (SOCIAL SCIENCE)

61. When do elements of nature become resources?
A. When they are worshipped B. When they are untouched by humans
C. When they are used by humans D. When they are preserved
62. What is the meaning of ‘exploitation’ in the context of natural resources?
A. Destruction of nature B. Extraction and utilization of natural resources
C. Protecting natural beauty D. Exporting resources to other countries
63. Which of the following is NOT a resource essential for life?
A. Air B. Soil C. Music D. Water
64. Which one of the following is a non-renewable resource?
A.Wind energy B. Solarenergy  C. Petroleum D. Timber
65. What does the term ‘ecosystem services’ refer to?
A. Forest guards' services  B. Oxygen production and water filtration by forests

C. Pollution services D. Tourism-related services

66. Which natural resource was overexploited in Punjab as per the case study?
A. Timber B. Air C. Groundwater D. Coal

67. What is the main reason for glacier melting in the Himalayas?
A. Increased snowfall B. Cutting of forests and industrialisation
C. Earthquakes D. Rainfall increase

68. Which of the following resources is derived from plants?
A. Petroleum B. Timber C. Gold D. Coal

69. What makes forests renewable resources?

A. Forests are untouched

B. Forests grow without rain

C. Forests renew themselves through natural processes

D. Forests do not support biodiversity
70. What is the source of energy for micro hydel plants?

A. Wind B. Petroleum C. Flowing water D. Coal

71. Which of the following is NOT an ecosystem function?

A. Filtering water  B. Producing oxygen C. Erosion prevention D. Industrial pollution
72.\WWhy is cement considered a polluting industry?

A. It is made from mud B. It uses wood
C. It releases fine dust harmful to lungs D. It is made from rainwater
73. Which renewable energy source is mentioned as long as it’s managed well?
A. Gold B. Qil C. Wind energy D. Coal

74. How much oxygen does a mature tree produce per day?



A. 50 litres B. 100 litres C. 275 litres D. 1000 litres
75. Which activity disturbs the regeneration of forests?

A. Plantation B. Cutting trees faster than regrowth
C. Worshipping nature D. Soil conservation
76. What do traditional communities do to protect fish populations?
A. Build dams B. Harvest fish daily
C. Regulate fishing during spawning season D. Sell fish at markets
77. Which of these is a material resource?
A. Coal B. Gold C. Timber D. All of these
78. What was one solution mentioned to reduce cement pollution?
A. Stop using cement B. Plant more trees

C. Use alternative materials like mud and plant-based waste  D. Export cement
79. What leads to contamination of river water near industries?

A.Sand B. Clean water release  C. Untreated waste discharge D. Worship rituals
80. Why do humans convert natural objects to resources?

A. For decoration B. For entertainment

C. For consumption, sustenance, or utility D. To preserve them forever
SECTION — E (HINDI)
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